@ miEfi
TP EERERNBERINBIRZ 0]

Zhejiang Zhongde Automatic Control Science And Technology Joint Stock Co., Ltd.

Huik: AT EEAHEEKICAIES59S

ADD: 659 Changxing Dadao, Taihu Street, Changxing County,

Zhejiang Province, China
HiETel; 0572-6660053
fEHEFax; 0572-6556888
EGHREALE. 0572-6660121/13325722979
BRFEE-mail: vip@zhongdegroup.com
MEHt: /waww.zhongdegroup.com

PRk

ZSHS NI
ZSH Pneumatic Actuator

www.zhongdegroup.com



¢
COMPANY PROFILE

= 4
NI

AT ERERKRNBRATDRENR. £, HE. BET-HFNTLETRTER. B
19928 BISTRIR, PEBN TRRATHRT LIERA, FHRIGLAERERRTHRIURAIR
AIFEHAL, RN —TZENRRARED, FRATIL. BR. BTSN TRME, H
PREAITER. VIR, BRIAITE. UESITRFSRTZEBTRBEL. KL
T. RASFIEARONSRIR, FHET AZHRHANSEREE.

“BRNRERIMZ AL ALPRERNES T+ EHETRSME, RS TSR
BARE LEREmEIE. BEREENTR, RNSERE "2e. IR, 40" FanE
B, A= ROEKTAT MG TREERER, RINEFFELRMETWHIRIIEHN,
HRELfRRGE AR, TR, RE" ARBRS . JOESF “— I BIE —RWERL, —RMAL
" B9BRSS AR

PLNAR, RfErl” 2HEadXdmil, ERRAMARENIE, PR LUK
SR, MR R RIdEn~ mmBM—Raks. TRARRER, Bk, £h
FHSERSRATRR TSR, BATIREERTROES N AEHE, EFHSIUm
EreERRAl, MERSERENETE, HEEFNHX!

Aty

! LS
www.zhongdegroup.com BHisREROBIRAS
4
|

EPURH R

EHNZERE

Zhejiang Zhongde Automatic Control Science And Technology Joint Stock Co.ltd.is a
professional control valve manufacturer integrating research, development, production, sale and
service. Since its establishment in 1992, Zhongde has been devoted to developing specialized
technologies of actuators, keeping us always at the leading position in Chinese actuator
industry. During more than twenty years of development, Zhongde personnel are building the
brand of actuators with specialization, concentration and perseverance. The products such as
pneumatic actuators, electric actuators, electric—hydraulic actuators and pneumatic—hydraulic
actuators are widely applied in petroleun, chemical industry, coal chemical industry, natural gas
and other high—end fields, receiving deep trust from users.

"Customer satisfaction is regarded as our life". For this, Zhongde has established 12 sales and
service networks in China, which are creative both in breadth and depth of serving the markets.
We can meet your demands. We will provide you with safe, reliable and trustworthy products
and the value of our products is much higher than their price. Wherever you are, our team will
offer serious, responsible, fast and high quality services to you with their rich experience and
professional knowledge. We always keep our service promise of "one telephone, arrival within
one day and success in one step".

"Human oriented, booming business by morals" is the core idea of Zhongde Enterprise, and the
standard followed by Zhongde personnel in conducting themselves and handling affairs.
Zhongde personnel will offer high product quality and top-ranking services with the attitude of
'meeting friends with sincerity, treating friends with morals’. Accumulating profoundly and
working ceaselessly and unremittingly, Zhongde personnel are making all efforts to create an
advanced manufacturing enterprise of high—end actuators in China, accelerate the process of
localization of actuators and realize maximized customer satisfaction. Zhongde hopes to
cooperate with you faithfully and create a brilliant future together!

PAGE 01/02

T L L e S L T A L L L T i L L L e U A L L b L T e i i

GLOBALIZED TECHNOLOGY QUALITY

ALL-ROUND SAFETY GUARANTEE

ZHEJIANG ZHONGDE AUTOMATIC CONTROL
SCIENCE AND TECHNOLOGY JOINT STOCK CO.,LTD.



‘.. MERE S3niT85 Pneumatic Actuator Series PAGE 03/04

VL L L L T L T L A L T T L A L L A L A L T i e VL L T L L T A L L L L A T L i i i i

ZSH

RINKEPNNATER

Pneumatic Actuator

7= B %5 8 Product features 05
£EF94% 2 Structural features 07
1211k 1% 31+ Modular design 09
7= S #0458 81213 BB Product specification and model descriptions 11
A HEZ 413k Table of torque parameters 13
MR~ R EHE SR Table of outline dimensions and data 15

PRODUCTION WORKSHOP
= =yl 3|2

PR mRBIAATNAES, ETI, BRIONERAKBREES AL RS, BRI
AR, IEETEFRRF, EEMRATARENFNEFRFES, ERINNEFEFESER
RoJgemutift, BREBBARMNEVRE, ML~ PHE TR, MRTEE, RBRETRER,
BARET 5.

Zhongde regards product quality as the life of our enterprise. Based on this, we have made a huge investment
in introducing modern production equipment, building modern workshops and standardizing production
procedures, so that every employee is able to work following scientific production procedures, our production
procedures are optimized as much as possible, the increasing demands of our enterprise are met, and the
waste in production is avoided. Production speed and quality have been improved, and finally, we have won
the market.




‘I. DEERL R Sahhize85%) Pneumatic Actuator Series
LI I I I LI AAAA A R LI 18800111101 EF DD EEE 1SR I LI I RIS AAA AL LI L0000 1111 0L 1 IR DD EEEL A 1RO IEEAAIIIAAAI ISR AA IR 0117

PAGE 05 /06

T L L e S L T A L L L T i L L L e U A L L b L T e i i

¢
PRODUCT FEATURES

= T =

zE
Safety

ZSHRZI B EMERIEEEEHEERERA
B, M E AR UER (ERE
MEREM.

After pre-compression, the ZSH series spring is
fixed inside the spring module, so as to realize

operation stability and safety during installation
and maintenance of the spring module.

R R R T
Standard installation
size of accessories

ZSHARFSERHITRE AR I B et T
BNUMARIRAE, FHEIER B2
#iE.

The connection of output accessories at the top
of the ZSH series pneumatic actuator conforms to
NUMAR standard, making it convenient to carry

out installation operations of standard automatic
control accessories.

IREERR T

Standard connection size

ZSHARF| S AifTas 5 W aERE R~ 155
B|ISO-5211FENER, AEAFRER
Ko

The connection size of the ZSH series pneumatic
actuator and valve conforms to the requirements

in 1S0-5211 and facilitates the installation by
users.

RIR{LIZiT
Modular design

ZSHRF S TR B EEIRER . SEE
B, AR B ESRERR AT,
EARRE R T EifEE . ERAiEE.
R FRRIEFHITRE. HiE.

The ZSH series pneumatic actuator is composed
of driving module, cylinder module, spring
module and accessorial mechanisms. During
installation, these modules are easy to assemble,
disassemble, replace and stabilize. Installation
and maintenance can be carried out according
to customer needs.

S A M
Durability

ZSHARSI S TR S R AR SR
RE. AETFESEITS BIEBEHKLS
&, RERRABFIEE, TKAEE
HE RS,

The combination of the cylinder inner surfaces,
piston rod and guide rod of the ZSH series
pneumatic actuator that have been subjected to
special freatment with the self-lubricating bearing
ensures excellent sliding and anti-wear
performance and prolongs the service life of all
sliding parts.

Anticorrosion
ZSHAFISEAATREUR T HPRE, i
EHIRIEIR AN, RN
IMRIVESR, BERETEIESINEIER,
The ZSH series pneumatic actuator is sprayed
with protective coating. The connection balts and
screw caps are made of stainless steel. It can

meet requirements for the working sites and
requirements for different severe conditions.

FAZKRIR

Waterproof protection

ZSHARF|SEfTaefalE. HEFLEEE
HE, FRLIESMIRVKDFENAITERNER, B
PERIIAE|IPE7, TJEERAHIESET
PR ERNIETT.

The box body and box cover of the ZSH series
pneumatic actuator are installed with seal rings to
prevent water outside from entering the actuator.
With the protection grade reaching IP67, it can

run under severe environmental climate
continuously and stably.

TR
Travel adjustment range

ZSHEF|SEH TR A I MR TR R
B o] DIHTAE. BEL5° HIFTH.
ESA=

The ZSH series pneumatic actuator is provided
with two independent travel adjusting screws for

conveniently and accurately making +5°
adjustment of on—off positions.




‘l. DEERL R Sahhize85%) Pneumatic Actuator Series

VL L L L T L T L A L T T L A L L A L A L T i e

STRUCTURAL FEATURES

ARSI

tREE=EE

&z
B B

TIREATEER

Standard flange Travel adjusting bolt
Connection Self-lubricating hearing
of driving shat

ZSHEFSH WM LETER ZSHEISIHH
IRREEEE BEBWMA, B i
EEE?&R#,_ FREEM. W AFEET.
fresosztin RS s 1 EO
on ﬁyﬁﬁh pnemﬂc
The connection Eﬁﬁﬁ &%ﬂg—] actuator can
size of the ZSH VEBE 2z carry out +5°
series pneumatic e travel adjustment.
actuator The driving shaft is
installation flange  provided with self—
and valve lubricating bearing,
conforms to which is used for
1SO5211. supporting,

positioning, anti—
wear, rotary sliding
and reduction of
friction, so as to
make the product
better exert its
running
performance.

VL T L S T A L L L L L L L L T L it i

B854 Torque features

125—
BEES SEER
\ Spring start point  Air pressure start pnint\

100
2] 75—
%
E‘ 5'(';-\\ o

SEER MRS
25—{  Air pressure end point Spring end point
SRR SRR ER IR
0° 45° 90°
{712 Travel
EEN{EB! Single acting type

i B0 B

anbio) A B

PAGE 07 /08

125—
E{THE
\ Running torque
100
75—
-~ |
50
25—
BENRARRRREIRARRE
0° 45° 90°
172 Travel
WEN{EEY Double acting type

B

SREE

EENEITB
Mgt

Fork shaft sleeve Guiding device .
Piston rod self-
SUNEtRIS lubricating
hearing design
HmLRETH AFRBHNS BEFBEES.
£, BOTER @EWERT, £ #{EA, Iﬁ%ﬁ?ﬁ‘
REEESD, F3 HESEEMS HEERH, R
EfEshEmR I Tgﬁﬁﬁﬂ’]ﬁ%ﬁ
E, BAET. RE.

The pin shaft is
installed with shaft
sleeve to reduce
friction during
running, so as to
make the torque
driving more
stable with
efficient running.

The innovative
unique double—
guiding structure
design makes
torque distribution
more reasonable.

It is provided with
self-lubricating
and supporting
functions to
reduce sliding
friction and
enhance transfer
efficiency of
spring force.




‘I' DEERL R Sahhize85%) Pneumatic Actuator Series
LI I I I LI AAAA A R LI 18800111101 EF DD EEE 1SR I LI I RIS AAA AL LI L0000 1111 0L 1 IR DD EEEL A 1RO IEEAAIIIAAAI ISR AA IR 0117

LI F IR

Screw lever hand-operated module

B A TR

Clutch hand-operated module

-
¢
,"’A' & iﬂ | /‘h
i ” ” ",‘?’ -y

’ ' IR B R

Driving module

A

R FEHIRIR iR F B R

Bevel gear hand-operated module Hydraulic hand-operated module

PAGE 09/10

T L L e S L T A L L L T i L L L e U A L L b L T e i i

€ MODULAR DESIGN
HEERILIgI

SHIEIR

Pneumatic module

SE AR R E T3

Spring module with hydraulic hand operation

“ F
f"‘“ | l‘fé\‘l .‘A . . &
LY o LY <% -
= 4 3 'f 7 | r/'
y v

SRERTER R ERR
Spring module Hydraulic module




‘l. DEERL R Sahhize85%) Pneumatic Actuator Series
PIIII LI LI DI I 1D DI LI LD AR LE LI R LL DI I LI DI AL EII LI 20O E LI AL 0D AL I DDA I LI 10000000111

€ PRODUCT SPECIFICATION
AND MODEL DESCRIPTIONS

Mg A S A
El D80 OO0 0 On
jﬁﬂ'\%SpeciﬁcationJ J \\ L%&ﬁﬁgi‘c Handwheel type

afFEIR Acting type {5 BB FE Working temperature
HERLE Failure position 525 Trayel

L B@EHHE Spring specification

it Specification 17822 Travel

180 180 550 550 07 & Travel: 0~70°

200 200 6800 600 09 7% Travel: 0~90°
250 250 700 700

300 300 800 800 {EF;EE Working temperature

350 350 900 900 o y :

400 400 1000 1000

N AR Standard type: —20~+80°C
450 450 1100 1100

L 1B Low temperature type: —40~+80°C
500 500

H =88 High temperature type: —20~+150C

ah{EBxC Acting type Fip Bt Handwheel type

S H{EM Single acting 0 FoF# Without handwheel
M{EM Double acting BEEZF4 Cluich type handwheel
£4FF% Screw lever handwheel
pik%e Bevel gear
HEF 4 Hydraulic hand—operated mechanism

s

=

: | 1

‘ M

| L,
=
@
=3
[=]
3
A WN

RS AIFC(SEEESE)Fail o close FC (spring off) E: U REAEILRS,

2 —FRETRMEAFERER.
B HEFFAIFO(5¥ 3T )Fail to open FO (spring on) sl SRR

Note: 1/ — No code for double acting.
2/ — The travel can be customized according to user requirements.

MEHRT Spring specification

PAGE 11/12

VL T L S T A L L L L L L L L T L it i

16 15 14 1 2 1 T 6 hH A 2 1 9 30 3 4 6 T 8 38 40
oI, /5
/s

- e L]
e m N

BT Er=mrm=y y

olo®o o e o o o 0 ©_ o

| AT

BHEBIRS5#E Part name and material

10

11

12

14

1]

16

17

18

fhE
Boxqoody
2578
Fork
e
Box cover

SHh
Pin shaft

Shaft sleeve

LS
Bearing
fEh
Indicating shaft

SEH
Guide rod

St
Guide block

A
Cylindrical pin
| TERERET
Indicating cover screw
jEm
Indicating cover
JEThE
Indicating plate

7R
Hexagonal bolt

PN FEE

Hexagonal bolt

Bearing
QR
Oring

thi
Middle cover
OR/E

Qring
ORI
O ring

B I Sk i 7075-T7651

Ductile iron Guide sleeve 7075-T7651
BREGEE 22 ORI 1R
Ductile iron Oring Rubber
EREEGEE 23 i )
Ductile iron Key Carbon steel
20CrMnTi 24 ORI *&Hﬁ
20CMVInTi Oring Rubber
HEE 25 EivE gy BN
Copper alloy Pull rod Carbon steel
SaE 26 SH
Composite material Cylinder Carbon steel
304 27 ShE BN
304 Outer cover Carbon steel
T4 28 7R 304
Carbon stee| Hexagenal nut 304
TS 29 IR (s
Carbon steel Hexagonal screw plug Carbon steel
] 30 | SHEEhE i
Carbon steel Spring middle cover Carbon steel
304 31 PEEHRA TR
304 Connection screw Carbon steel
ik 82 S - L
Plastic Spring High—quality spring steel
304 33 NAREE 304
304 Hexagonal nut 304
304 34 IETHAEAT 304
304 Adjusting screw 304
304 35 FEERIT RN
304 Spring pull rod Carbon steel
Sakt 36 FAtiigeE BeN
Composite material Lock nut Carbon steel
a7 RS R
Rubber Spring retainer Carbon steel
Carbon steel Spring cylinder Carbon steel
39 , haE B4
Rubber Spring outer cover Carbon steel
40  BEFahER
Rubber Hydraulic hand-operated module Carbon steel




‘l' CREE R SaiTsEEs1 Preumatic Actuator Series PAGE 13/14

VL L L L T L T L A L T T L A L L A L A L T i e VL T L S T A L L L L L L L L T L it i

€ TABLE OF TORQUE PARAMETERS
HESEHER

WIEMiA%EZXE Double acting torque table EA{EMIA%EZ Single acting torque table EA(EMIA%EE Single acting torque table
B{ZUnit: N.om BAZUnit: N.m BAZUnit: N.om

: ' : ZSHO-180SR 410 246 267 445 267 303 Z5HO-180SR 570 342 392 499 299 320
ZSHO-180DA 534 378 712 504 820 629 1068 755 1246 881
ZSHO-200SR 506 303 330 550 330 374 ZSHO-200SR 703 422 484 615 369 396
ZSHO-200DA 659 466 879 622 1099 777 1319 933 1539 1088
SH1-2508R 989 564 618 1030 587 65 - 319 791 907 154 692 742
ZSH1-250DA 1236 874 1649 1166 2061 1457 2473 1749 2885 2040 & . 2 £5H1-2508R ! ! '
ZSH1-800SR 1424 783 890 1484 846 950 ZSH1-300SR 1899 1140 1306 | 1662 997 1068
ZSH1-300DA 1780 1259 2374 1679 2967 2098 3561 2518 4154 2938
; Z3H2-300SR 1780 979 1113 855 1057 1187 - 2374 1424 1632 | 2077 1246 1335
ZSH2-300DA 2226 1574 2967 2098 3709 2623 4451 3147 5193 3672 1 e AR ?
ZSH2-350SR 2423 1333 1515 | 2524 1439 1616 — 3 1939 2221 2827 1696 1818
ZSH2-350DA 3029 2142 4039 2856 5049 3570 6059 4284 7068 4998 = g ! 2 S i
ZSH3-350SR 3070 1688 1919 | 3198 1828 | 2046 ZSH3-3508R | 4093 2456 2814 | 3581 2149 | 2302
ZSH3-350DA 3837 2713 5116 3618 6395 4522 7674 5426 8953 6331
. ZSH3-400SR 4009 2205 2506 | 4176 2381 2673 — 5346 3207 3675 | 4678 2807 3007
ZSH3-400DA 5012 3544 6682 4725 8353 5906 10023 7088 11694 8269 H 5 i =i ?
ZSH3-450SR 5074 2791 3173 | 5286 3013 | 3383 ZSH3-450SR | 6766 4069 4651 | 5920 3552 | 3806
ZSH3-450DA 6343 4485 8457 5980 10672 7475 12686 8970 14800 10465
ZSH4-4508R 6410 3525 4006 | 6677 3806 | 4273 - 8546 512 5876 | 7478 4487 | 4807
Z8SH4—-450DA 8012 5665 10683 7554 13354 9442 16024 11331 18695 13219 5 8
ZSH4-500SR 7913 4352 4946 | 8243 4698 | 5275 - 0551 6331 7254 232 5539 | BY35
Z8H4-500DA 9892 6994 13189 9326 16486 44657 19783 13989 23080 16320 i il R s ? s
ZSH4-5508R 9575 5266 5984 | 9974 5685 | 6383 ZSH4-5508R | 12767 | 7660 8777 | 11171 6702 | 7181
ZSH4-550DA 11969 8463 15058 11284 19948 14105 23937 16926 27927 55706
ZSH4-600SR | 11395 | 6267 7122 | 11870 | B766 | 7597 ZSH4-6D0SR | 15193 | 9116 | 10445 | 13294 797 8546
ZSH4-600DA 14244 10072 18092 13429 23740 16786 28488 20144 33235 23501 i = i
ZSH5-550SR 470 | 6882 7480 | 12966 80 | 8977 ZSH5-5501 5958 | 9575 10971 | 13964 8378 | 8977
ZSH5-550DA 14961 10579 19948 14105 24935 17632 29922 21158 34909 24684 i ohe i i iEavi il ? T
ZSH5-600SR | 13057 | 7834 8309 | 15431 9268 | 10683 ZSH5-600SR | 18992 | 11395 | 13057 | 16618 9971 | 10683
ZSH5-600DA 17805 12580 23740 16786 29675 20983 35609 25180 41544 29376
ZSH5-700SR | 17772 | 10663 | 11309 | 21003 | 12602 | 14541 ZSH5-700SR | 25850 | 15510 | 17772 | 22619 | 13571 | 14541
ZSH5-700DA 24234 17136 32312 22848 40390 28560 48468 34272 56546 39984 '
ZSH7-600SR | 14798 | 8879 9417 | 17488 | 10483 | 12107 ZSHT-B00SR | 21524 | 12914 | 14798 | 18833 | 11300 | 12107
ZSH7-600DA 20179 14268 26905 19025 33631 23781 40357 28537 47084 33293
. ZSH7-700SR | 20141 | 12085 | 12817 | 23803 | 14282 | 16479 ZSH7-700S 29296 | 17578 | 20141 | 25634 | 15381 | 16479
ZSH7-700DA 27465 19421 33621 25895 45776 32368 54931 33842 64086 45316 H sl &
) ; ZSH7-800SR | 26307 | 15784 | 16741 | 31090 8654 | 21524 — 38265 | 22959 | 26307 | 33482 | 20089 | 21524
ZSH7-800DA 35873 25366 47831 33822 59789 42277 71746 50732 83704 59188 H 5 ; ! SRR
7SHB-800SR | 30949 | 18570 | 19695 | 36577 | 21946 | 25322 ZSH8-800SR | 45017 | 27010 | 30949 | 39390 | 23634 | 25322
ZSHB8-800DA 42204 29843 56272 39790 70340 49738 88408 59685 98475 69633
. 7SHB-900SR | 39170 | 23502 | 24927 | 46292 | 27775 | 32048 ZSH8-900SR | 56975 | 34185 | 39170 | 49853 | 20912 | 32048
Z5H8-900DA 53414 37769 71219 50359 89024 62949 106828 75639 124633 88129 f &
ZSH8-1000SR | 48358 | 29015 | 30774 | 57151 | 34291 | 39566 — 70! 42204 | 48358 547 | 3692 39566
ZSH8-1000DA 65943 46629 87924 62172 109906 77715 131887 93258 153868 108801 bR 240 o1 A
ZSH9-900SR | 52880 | 31728 | 33651 | 62495 | 37497 | 43265 ZSH9-900SR | 76916 | 46150 | 52880 | 67302 | 40381 | 43265
ZSH9-900DA 72109 50089 96145 67985 120182 84981 144218 101978 168254 118974 ! S 08
ZSHO-1000SR | 65284 | 39170 | 41544 | 77154 | 46292 | 53414 — 4958 | 56975 | 65284 | 83089 | 4985 53414
ZSH9-1000DA 89024 62949 118698 82932 148373 104915 178047 125898 207722 146881 . Sl b . i
ZSH9-1100SR | 78994 | 47396 | 50269 | 93356 | 56014 | 64631 ZSH9- 114900 | 68940 | 78994 | 10053 60322 | 64631
ZSH9-1100DA 107718 76168 143625 101558 179531 126947 215437 152337 S LD i F i




‘l. DEERL R Sahhize85%) Pneumatic Actuator Series

VL L L L T L T L A L T T L A L L A L A L T i e

BA{EMAIERE Single acting torque table

ZSHO-180SR
ZSHO-200SR

ZSH1-250SR
ZSH1-300SR

ZSH2-3008R
ZSH2-350SR

ZSH3-350SR
ZSH3-400SR
ZSH3-450SR

ZSH4-4508SR
ZSH4-500SR
ZSH4-5508R
ZSH4-600SR

ZSH5-550SR
ZSH5-600SR
ZSH5-700SR

ZSH7-600SR
ZSH7-T00SR
ZSH7-800SR

ZSHB8-800SR
ZSH8-900SR
ZSH8-1000SR

ZSH9-900SR
ZSH9-1000SR
ZSH9-1100SR

570
703

1318
1899

2374
3231

4003
5346
6766

8546
10651
12767
15193

15858
18992
25850

21524
29296
38265

45017
56875
70340

76916
94958
114900

342
422

791
1140

1424
1938

2456
3207
4059

5128
6331
7660
9116

9575
11385
15510

12914
17578
22869

27010
34185
42204

46150
56975
68940

392
484

907
1306

1632
2221

2814
3675
4851

5876
7254
8777
10445

10971
13057
17772

14798
20141
26307

30949
39170
48358

52880
65284
78994

677
835

1154
2255

2819
3837

4860
6348
8034

10149
12529
15160
18042

18950
22553
30697

25560
34780
45439

53458
67658
83528

76916
112763
136443

406

501

940
1353

1691
2302

2916
3809
4821

6089
7518
9096
10825

11370
13532
18418

15336
20874
27264

32075
40595
50117

46150
67658
81866

Bz N.m

499
615

1566
1662

2077
2827

3581
4678
5920

7478
9232
11171
13294

13964
16618
22619

18833
25634
33482

39390
49853
61547

52880
83089
100537

PAGE 15/16

VL T L S T A L L L L L L L L T L it i

€ DIMENSIONS AND DATA SHEET
SN R R EHETR

A L2

Hl

H2

il )

W{EAE Double acting type

ZSHD-180D 410 145 118 70 75 172 240 F12 36 %80 10 G3/8"
ZSHOD-200D 410 145 118 70 75 182 266 F12 36 x 80 85x4 10 Ga/a'
ZSH1-250D 478 169 131 84 92 195 270 F14 48x135 | 100x4 14 G3/8"
ZSH1-300D 478 169 131 a4 92 222 324 F14 48%135 | 100x4 14 G1/2"
ZSH2-300D 570 206 149 106 113 237 324 F16 B60x 145 | 120x4 18 G1/2
ZSH2-350D 577 206 149 106 113 262 374 F16 B0x145 | 120x4 18 G1/2
ZSH3-350D 667 260 174 120 158 282 374 F25 72x155 | 200x5 20 G1/2'
ZSH3-400D 672 260 174 120 158 307 424 F25 72x155 | 200x5 20 G3/4"
ZSH3-450D 682 260 174 120 158 334 478 F25 72%x155 | 200x5 20 G3/4"
ZSH4-450D 783 303 183 128 185 359 478 F30 100% 200 | 220x5 28 G3/4"
ZSH4-500D 783 303 183 128 185 385 530 F30 100%200 | 220x5 28 G3/4"
ZSH4-550D 783 303 183 128 185 410 580 F30 100% 200 | 220x5 28 G3/4"
Z7SH4-600D 783 303 183 128 185 450 700 F30 100% 200 | 220x5 28 G1"
ZSH5-550D 940 345 195 160 210 475 650 F35 120%240 | 230%5 32 G3/4"
ZSH5-600D 240 345 195 160 210 500 700 F35 120%240 | 230%5 32 G1"
ZSH5-700D 940 345 195 160 210 550 800 F35 120%x 240 | 230x5 32 G1"
ZSH7-600D 1020 390 212 185 230 520 700 F40 160280 | 300x8 40 G1"
ZSH7-700D 1020 390 212 185 230 570 800 F40 160%280 | 300x8 40 G11/2"
ZSH7-800D 1020 390 212 185 230 626 910 F40 160x280 | 300x8 40 G11/2"
ZSH8-800D 1175 460 235 200 300 655 910 F48 180%320 | 370x8 45 G11/2"
ZSH8-900D 1175 460 235 200 300 740 1010 F48 180%320 | 370x8 45 G112
ZSH8-1000D 1175 460 235 200 300 765 1124 F48 180%320 | 370%8 45 G11/2"
ZSH9-900D 1475 565 280 235 360 775 1010 F60 220x 380 | 470x8 50 G112
ZSH9-1000D 1530 565 280 235 360 840 1124 Fe0 220x 380 | 470x8 50 G
ZSH9-1100D 1530 565 280 235 360 890 1225 Fe0 220x 380 | 470x8 50 G11/2"




‘l' DEERL R Sahhize85%) Pneumatic Actuator Series

VL L L L T L T L A L T T L A L L A L A L T i e

€ DIMENSIONS AND DATA SHEET
IMERT R EER

EA{EFB Single acting table

ZSHO-180S

ZSH0-200S
ZSH1-2508
ZSH1-3008
ZSH2-3008
ZSH2-350S8
Z8H3-3508
ZSH3-400S
ZSH3-450S
Z8H4-4508
Z8H4-5008
ZSH4-5508
ZSH4-600S
ZSH5-5508
ZSH5-600S
ZSH5-700S
ZSH7-600S
ZSH7-700S
ZSH7-800S
ZSH8-800S
ZSH8-900S
Z5H8-1000S
ZSH9-9008
ZSH9-1000S
ZSH9-1100S

410
410
478
478
570
SIE
667
672
682
783
783
783
783
940
940
940
1020
1020
1020
1175
1175
1175
1475
1530
1530

570
570
679
680
804
856
1005
1065
1085
1206
1187
1224
1230
1450
1480
1530
1600
1600
1780
1985
1785
1975
2265
2425
2425

118
118
131
131
149
149
174
174
174
183
183
183
183
195
195
195
212
212
212
235
235
235
280
280
280

70
70
84
84
106
106
120
120
120
128
128
128
128
160
160
160
185
185
185
200
200
200
235
235
235

240
266
270
324
324
374
374
424
478
478
530
580
700
650
700
800
700
800
910
910
1010
1124
1010
1124
1225

PAGE 17 /18

VL T L S T A L L L L L L L L T L it i

L2 |

75
75
92
92
13
13
158
158
158
185
185
185
185
210
210
210
230
230
230
300
300
300

360
360

172
182
195
222
237
262
282
307
334
359
385
410
450
475
500
550
520
570
626
655
740
765
775
840
890

F12
F12
Fl14
F14
F16
F16
F25
F25
Fo5
F30
F20
F30
F30
Fas
Fas
F35
F40
F40
F40
Fa8
Fa8
Fa8
F60
F&0
F&0

36 x 80
36 x 80
48 x 135
48 % 135
60 x 145
60 x 145
72 x 155
72 x 155
72x 155
100 x 200
100 x 200
100 x 200
100 x 200
120 % 240
120 % 240
120 x 240
160 x 280
160 x 280
160 x 280
180 x 320
180 x 320
180 x 320
220 % 380
220 % 380
220 % 380

=

|
85 x4 10 G3fe! 3
85x 4 10 a3/’ T =
100 x 4 14 Gag’ = L
100 % 4 14 G2 ' '
120 % 4 18 Gl wm oD
120 x 4 18 G
200%5 20 G1/2' gk
200% 5 20 Ga/4" gl
200 % 5 20 G3/4" 4X4 M6XY5T<E12
2205 28 G3M’
2205 28 GaM’
220 % & 28 G3/4"
220 % & 28 i gcb%‘
230x 5 32 G3/4" Bl
230% 5 32 G1"
230 %5 32 G1"
300% 8 40 G ZSHo 60%30 | M6x10 | 60xB0 | MBEx10 | 80x30 | M5x10 | 762x76.2 | Mi2x18 | 18 16 | 14x14 | 20
300% 8 40 G112 ZSH1 60x30 | MBx10 | 80x80 | M6x10 | 80x30 | Ms5x10 | 762x762 | Mi2x18 | 18 16 | 14x14 | 20
300 8 40 G112 ZSH2 60%30 | MBx12 | 90x90 | M8x12 | 80x30 | M5x10 | 1016x1016 | Mi2x18 | 30 28 | 22x22 | a0
370 8 45 G112 ZSHa 90x40 | M10x15 | 112x112 | M10x15| 80%30 | M5x10 | 101.6x1016 | Mi2x18 | 30 28 | o2x22 | 230
370 %8 45 G112 ZSH4 110%45 | M12x15 | 200%110 | M12x 15| 80%30 | M5x10 | 101.6x1016 | Mi12x18 | 30 28 | g2x22 | 30
370% 8 45 G112 Z5HS5 140%80 | M12x15 | 200x110 | M12x 15| 80x30 | M5x10 | 1016x1016 | Mi2x18 | 30 o8 | 22x22 | 30
470 %8 50 G112 Z5H7 140%80 | M12x15 | 200x 110 | M12x 15| 80x30 | M5x10 | 101.6x1016 | Mi2x18 | 30 28 | 2ox22 | 30
470% 8 50 G117 ZSHe 140%80 | M12x15 | 200%110 | M12x 15| 80x30 | M5x10 | 1016x1016 | M12x18 | 30 28 | 22x22 | 30
470% 8 50 G112 ZSHo 140%80 | M12x15 | 200%110 | M12x 15| 80x30 | M5x10 | 1016x1016 | Mi2x18 | 30 28 | 22x22 | 30




	01
	02
	03
	04
	05
	06
	07
	08
	09
	10

